Priedas 2 Paprastosios trupmenos. Fractions

Teacher’s Notes: Tasks with answers

Task 2. Determining the Relations. Answer the following questions.

1. How many A are in ‘? Answer: 2
2. How many Aare in ' ? Answer: 3

3. How many ' are in ? Answer: 2

4. How many A arein ? Answer: 6

5. How many arein ? Answer: 3

6. How many arein ' ? Answer:11/2

Based on these relationships, Calculate the shapes.

7.1f <:> = A- . Answer: 1/6

= . Answer: 1/3

<:> ' . Answer: 1/2

10. If ' =1, ‘=_.Answer: 2/3

Task 3. Let's do some really fun ones. Calculate the shapes.

<:> + ' =1, whatis A? Answer: 1/9
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2. If <:> + ‘ =1, whatis A+A? Answer: 2/8or1/4
3. If A + A =1, whatis <:>+‘ ? Answer: 4

4. If <:> + A =1, what s '? Answer: 3/7

5. If <:> - A =1, what is'+‘ ? Answer: 1

Task 4. These are a challenge, but fun to figure out!

1. |If A + ' =2/3, whatis 1? Answer:

L f <:> + ‘ =4/5, what is 2/5?Answer:' + A
3. If ‘ + A =3/4, whatis 1/2?Answer:‘

4. If ' + ‘ =5/8, whatis 3/4? Answer:
5. If <:> - ‘ =11/3, whatis 2/3?Answer:‘

N
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Task 5. Multiple Choice
1. Answer: C. 1/3 2. Answer: B. 1/4 3. Answer: B. %

<:> A ‘ 4. Answer: A. 1/6
w

Task 6. Homework

1. Answer: D
5 1 4

1
12 12~ 12 Which can be simplified by dividing top and bottom by 4: 3

2. Answer: D

7 3 14 9 5

OB TRTH WA

3. Answer: A

3 3x2 6

5 5x2 10

9 9 9 3 9 6 3

10 10 10 5 10 10 10

4. Answer: C

5  5Hx3 15

12 12x3 36

8 8x4 32 8 5 32 1 17

9 9x4 36 9 12 36 36 36

5. Answer: B

8 =2 16

1_5=15x2zﬁ

5.5x5_2 5 8 2 16 _9, 9 3
6 6=x5 30 6 15 30 30 30 30 10

6. Answer: A

T _Tx5 _ 35
24 24 x5 120

13 13x8 14 13 7 104 35 69 69 23

S0 190 = 10

15 15x8& 120 15 24 120 120 120
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7. Answer: D
5 17

1—=—

12 12

17 17x3 5l

12 12x3 36

2% _ % 5 % _17 % _51_ %
36 36 12 36 12 36 36 36
8. Answer: A
5]
3
5 bHx4 20
3 3x4 12
§_3x3_i
4 4x3 12
2_3_5_3_20 39 1
3 43 412 127 12
9. Answer: B
First change 12 and 2} to improper fractions:
11
3
5
2§=§
u_n
8 8
§=5X4=@ 21_1§=§_E=E_E=g=11
2 2x4 8 2 8 2 8§ 8 8 8
10. Answer: B
E_EXS_E
3 3x8 A
§_3><3_E
8 8x3 2
1 1x2 2
12 12x2 24
2 3 16 9 2 16—-9—-2
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NOTES




